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1. MbERCYIWEHER ARG T (a) S HPE R ER+ ARE VIR LR AE total
mechanical energy)<F{E2(b)E{+PE Rt 2 &8 Al i <7 (total angular
momentum)?(C)aRWUEZ F KM o, PHRIR b IR ZRENUMNE E=73E:LL
KRS B M UER & m, 55| 7# B Ga 3 b #7R).(20 points)
2. E—RTHOERT,—H]ER m K TFOMRER
[#9.4
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 ZiEHA. (20 points)
3. HER mRTFEEERER L EGAHE BT TEH) 209G SHEE X
FOY @i EEE) B 959098 HBIEFRZER y 771905 O 558 B A6 ZRE e
71.(a)F Lagrangian 4§ the equation of motion.(b) B#2/\0Y) Of( G483

V()=

{E<<1)##H! the equation of motion,3% =0 8%, 6=6, H 6= 0.(20 points) )

4 BALERR LHER M ZIERIGNFERER L2 MHOMBHE & (Moment of
Inertia)f / = %MRz .(20 points)

5. Consider a right triangular thin plate of area density u ,with oﬁe edge of length b
along the X-axis and another edge of length a along the Y-axis, as shown in Fig.2

(a)Find the position vector of the center mass.(b)Find components of Inertia
Tensor. (20 points)
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